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Final Exam
Biopharmaceutics and Pharmacokinetics (2)
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sEttInn 1
put true or false please:
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1. Any factor that increases the b,

accurnulation is directly proportional to the concentration of the drug in
the vein.

4. The stimulants of the microsomal enzyme systems are called enzyme
inducers that decreases the biological half-life’s of the drugs, decreases
the duration and increases the biotransformation of the drugs.

5. The bioavailability of the drugs increases, the total body clearance is
increased and the first-pass effect is decreased in the result of enzyme
deficiency.

6. The renal clearance should be calculsted from the maximum amount
whmemﬂdivimmm:mwdu&ncmeﬁmmm
infinity. o

7. The lasma concentration after the extravascular ndnumsun.um of
the dt;t; related directly with the o5, constant rate of absorprion #h°
the constant rate of elimination . Iversely” propextionsl

i ;iﬁnfmmmlhmiwufﬂmdmg:Whh

g accum L mmﬂlthemdysmcmrmnhvd-
blood and tissue upon multiple

then its clearance value will be more
9. If the drug is partially reabsor®d

than 130 m/min. - mﬁhﬂmwmwmﬁ
10. The tissular drug concentrati®”

and the concentration of the drug
' 1ap volu®
related directly with the tissV!

in the vein.




(1. The nun_-linf.':ar ph?nnu‘cnkinqi“ . called dose-independent
I;'hlI‘l‘ﬂ”""l”“em’E that implies thay the oncentrations are not directly
P,uporﬁﬂﬂll to the transfer rates,

|2, The competetive inhibition between (p, 4 pstrate and the inhibitor for
pinding 10 ENZYMES Increases the Km gnq (he maximum velocity of the
reaction does not change.

{3. The residual method for the determipgtion of the constant rate of
absorption should be considered as ideg) when the kinetics of release is

zero order.

14. The sum of all body regions to which the drug is eventually distributed
but in not instantaneous equilibrium is ca)jed central compartment.
15.The volume of blood in ml which is completely cleared of the drug per

unit time (minute) by urinary excretion or metabolism is called renal
clearance.
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Good luck




B.
Define the folowing;

1. Posology.

2. K12

3. Feathering.

4. Biliary recycling -

5. Creatinine clearance:




Secﬁun )

, The phlrll:llmﬁntﬁc of the

that is given by illtn\'ncuhhbﬂ“ d"'l toncentration-time curve for

dru
obtained were: “Ininiytration equation that fits the ..m:
CP = 55- ;ﬂ.!ﬁ‘t
. ;m;;:ttﬁt:?fuﬂ h.i:::“ of 5 mg/kg for ten patients (average weight 70 kg),

A. What is the t 12?
B. What is the Vg?

C. What is the Iﬂﬂﬂllﬂdﬁfﬂud’mlhs hours?
D. In percent how much dm:hlelthmm? after 5 hours?

E. When the next dose must be administered if the drug wil not be effective
pharmacologically when declines to 3 pg/mi.




following table; ey Orugs A and B are Mlustrated in the
Pharmacokinetic T R
Parameters D;:;I Drug
= —L__ & _
Protein binding BEL oLl
- % 15 %
XU 15{,,.;“ 280 mg
Cp (ah) 5.55 pg/ml 2.92 pg/ml
Xo 300 mg 300 mg
GFR 130 ml/min 130 mifmin

Indicate, which mechanism is predominant in the renal excretion for each
medicament?




5, he following  pharmacokiney;,

N the oral
“dn“linddﬂlll-
_-"'"l--.._____
Drug K J(hr:
) ke(hy-1) Va(mL)
—_
A
1.5 8 i@
B A rea—t

: mhlndﬂfﬂﬂﬂwlﬂmmm odel and assume that the
drug is completely bioavailable, caleulate the fm p:ut:

o Calculate the 7 ,; for each drug.
+ Calculate the C ,,, for each drug.




SE’Cﬁun 3

. Give maﬂ'ﬁﬂ““':ﬂu)’ in details, how the mnmﬂu’ﬂuﬂﬂ of the drugs in the
“.,m[pcﬂﬂﬂ‘l'l]:hm should be calculateq ;f the drug 1s administered by

[V-Infusion.
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give grophically the tWo compartye
3 etails the hybridization (Equations)

Ntal npan-rrmd:l and explain in
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Give and explain the types of
Haﬂmw%mmmﬂmm‘}wwd
Tapezoidal rule?




